Maths: Counting to 100.

If you need a recap of this maths skill here is a lesson and a video to help your counting: https://vimeo.com/430314213 and
https://www.youtube.com/watch?v=bGetqbqDVaA.

Activity 1: Solve these counting to 100 problems.
o How many cherries are there? o' How many sweets are there?
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There are cherries.

There are sweets,

How did you count them?

How did you count them?
o How many bread rolls are there?

o Complete the number tracks.
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b)
There are bread rolls. 89 92

How did you count them? 9 97 | 96



https://vimeo.com/430314213
https://www.youtube.com/watch?v=bGetqbqDVaA

Maths: Counting to 100.

Activity 2: Use the 100 square to help you answer these questions.
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1. How many jumps is it from 80 to 92?

2. How many jumps backwards is it from 73 to 65?

3. What numbers are between 75 and 81?

Activity 3: Use the stem sentence to explain your answer to

this problem.
Teddy has made a number using the

number shapes.

i
B

C

Teddy

6+3=9

What mistake has Teddy made?

The mistake Teddy has made is

4. What number comes in between 48 and 46?

This is a mistake because

5. How many jumps from 100 to 91?

6. How many jumps forward is it from 56 to 69?




Maths: Counting to 100.
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